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CIRCLES & AREA PERIOD:
How Do You Estimate and Calculate

the Circumference of a Circle?
(Topic #2)
circumference

The distance around a circle is called the circumference. The ratio ry—— is the same for
. T

every circle and is represented by the Greek letter 7, called pi.

circumference

diameter

Circumference of a Circle

The circumference, C, of a circle is equal to 7 times
its diameter, d, or 7 times twice the radius.

C = nd C = 2nr

EXAMPLE 1: Using Radius to Find Circumference

a) Find the circumference of a circle with a b) Find the circumference of a circle with a
radius of 11 meters. Round to the nearest radius of 3% feet. Leave your answer in
hundredth. " 2

erms of .

EXAMPLE 2: Using Diameter to Find Circumference

a) Find the circumference of the circle whose |b) Find the circumference of the circle with a
diameter is 21 feet. Round to nearest foot. diameter 63 mm. Leave your answer in
terms of m.




EXAMPLE 3:

Using Circumference to Find the Diameter

tenth.

a) A Ferris wheel has a circumference of about 423.9 feet. What is the diameter of the
Ferris wheel? Round to the nearest tenth.
EXAMPLE 4: Using Circumference to Find the Radius
a) A pottery wheel has a circumference of 44 inches. Find the radius. Round to the nearest

' PRACTICE: Find the circumference of each circle, both in terms of w and to the nearest

tenth. Show all work.

Round to nearest tenth

L 3

36 cm

Leave in terms of .




Find the radius or diameter of the circle with the given circumference. Round to the nearest
hundredth. Show all work.

3. Find the diameter of a basketball hoop 4. Find the radius of a satellite dish with a
with a circumference of 56.52 inches. ’ Circumference of 957.7 meters.
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HOMEWORK - (Topic #2)

Estimating and Calculating the Circumference of a Circle

Find the circumference of each circle, both in terms of m and to the nearest hundredth.

Show all work.

Leave in terms of 7.

Round to nearest handredth.




The Belknap shield volcano is located in
the Cascade Range in Oregon. The
volcano is circular and has a diameter of
5 miles. What is the circumference of this
volcano? Round to the nearest tenth.

5.

A circular flower bed has radius 22 inches.
What is the circumference of the bed to
the nearest tenth of an inch?

A giant twine ball in Darwin, Minnesota,
has a circumference about 37.7 feet.
What is the diameter of the ball? Round
to the nearest foot.

The Minnesota State Capitol has one of
the largest unsupported marble domes in
the world, with a circumference of

279.6 feet at its widest point. Find the
radius. Round to the nearest foot.

Who’s Up For the Challenge?

The largest tree in the world by volume is in Sequoia National Park. The diameter at the
base is 36 feet. If a person with outstretched arms can reach 6 feet, how many people would

it take to reach around the base of the tree?
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circumference .
is the same for

The distance around a circle is called the circumference. The ratio pFTpm——
. am T

every circle and is represented by the Greek letter 77, called pi.

circumference-
diameter

Circumference of a Circle

The circumference, C, of a circle is equal to 7 times
its diameter, d, or 7 times twice the radius.

C = nd C = 2nr

EXAMPLE 1: Using Radius to Find Circumference

b) Find the Circumference »f a circle with a

a) Find the @of a circle with a
radius of 3 - feet. Leave your answer in

radius of 11 meters. Round to the nearest

‘hundredih.” terms of .
= 29r
C = 29r
¢ s e ,
, ac = av’r(&s)
C =49, //503838... . ~
C =7 fe

Cx (9,1 meters

EXAMPLE 2: Using Diameter to Find Circumference

a) Find tHe circumferenceXf the circle whose b) Find the ¢ffcumierenceyf the circle with a
diameter is 21 feet. Round to nearest foot. diameter 63 mm. Leave your answer in

terms of .
C = nd | 0= pd
¢ = m(2) ¢ = 7 (s3)
C = 45 973945 73,.. C = ¢3 m
C % 46 ft




EXAMPLE 3: Using Circumference to Find the Diameter

A Ferris wheel has a circumference of about 423.9 feet. What is the diameter of the

a)
Ferris wheel? Round to the nearest tenth.
C= 1rd
/R 3.9 = 77 o/
Yl Tr

134.9315608% = o

o & 1349 £t

EXAMPLE 4: Using Circumference to Find the Radius

A pottery wheel has a circumference of 44 inches. Find the radius. Round to the nearest
tenth.

a)

\l

£
3
]

ad

2T < 1T

%o00ag1Fyqe = [

r = 20 in

" PRACTICE: Find the circumference of each circle, both in terms of w and to the nearest

tenth. Show all work. :
' Leave in terms of m. Round to nearest tenth.
1. C = ST C = amr
" C = <1 (3¢ C = @ (30)
36 am
eommmme C = 7am C ©2386. /796 F/
c '
\/ O R 996, o
2. C= 7o c =7
O = éO T C = 60 7T
fr C = /98, #9555 T
C o 8% 85 Ft




Find the radius or diameter of the circle with the given circumference. Round to the nearest
hundredth. Show all work. ’

3.

Find the diameter of a basketball hoop
with a circumference of 56.52 inches.

C= 7o

/79908 7977 =

o X JR99 sn

Find the radius of a satellite dish with a
Circumference of 957.7 meters.

C = QmTr
G52 F = R T
— 2T
2T !

/52, Y2629 T

r = )59, Y2 M
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HOMEWORK - (Topic #2)

Estimating and Calculating the Circumference of a Circle

Find the circumference of each circle, both in terms of = and to the nearest hundredth.

Show all work.

Leave in terms of .

Round to nearest hundredth.

C =27 r
C = 97 (35)

C = 720 7 cm

C=R7r

e = anm (35)

a = Fowr

e 4/6.9/}&#%55

QKR 209,91 cm

C = 7o o= 7o
C= 7LD in C = AT
C = 926, /4’/‘5’6 71/
Cx 926, 19 in
3. . C = d7Tr Q= A7Tr
Q= 2 77(93) o= I (23)
C = Y6 71 £t C - 946 77

C = /74, 5/3262/
O /94 51 ¢




has a circumference about 37.7 feet.
What is the diameter of the ball? Round
to the nearest foot.

C = o
3.7 719
s

7// m

/2, 000827 = &

o= sy fE

The Belknap shield volcano is located in 5.  Acircular flower bed has radius 22 inches.
the Cascade Range in Oregon. The What is the circumference of the bed to
volcano is circular and has a diameter of the nearest tenth of an inch?
5 miles. What is the circumference of this
volcano? Round to the nearest tenth. O = 2 T
. C = 7d
= — ’ C =27 (22)
C = 5
” ( ) C /38 23 00763
C= /57 .
/5. TOFT6 527 g X (38.2 »n
C = /5. F ms
6. A giant twine ball in Darwin, Minnesota, 7.

The Minnesota State Capitol has one of
the largest unsupported marble domes in
the world, with a circumference of

279.6 feet at its widest point. Find the
radius. Round to the nearest foot.

C= Q1mr
A79%¢ = air
27 2

Y4, 49 5+d209 T
r= o997 ft

8.

Who’s Up For the Challenge?

The largest tree in the world by volume is in Sequoia National Park. The diameter at the
base is 36 feet. If a person with outstretched arms can reach 6 feet, how many people would

it take to reach around the base of the tree?

0) C = mo
C = 6T
C = /3. 09723355

@

//3, 0773355

-

/3. 55985,
A

L J8-19 people




